120 -55,1.9,0,15,20,9,47
5. Componends of U * ¢
. AT U costis)
Ny 2 U SIn(He)

Al T = <ocos(Us 05U

0°

1. components of w=?
Vy=w cos(340)

_iha: W sin (340)
W< weos(3UOY, w30

q. Componenis of 7gQ =?
P-(3,2)

Q- 2.1 o il hReraE
1PQL = 507 waus

—
PQ = (Xa-Xu)R - L‘:}G'Hv\é\,
(2208 (g

:"l| *53_
00 - 41,57
Il P=(3,9)

Q- (l,-1)

_—‘5 ~
PQ :LXQ'XP)A.. -~ Ltja'kj?)j.\

= () -331\+(-L\-s)§

‘2&“19
P& {-2,-9Y

d(P,Q): {(2-3) ¢ (7-2)7

lg""022.~ + Q, ‘Hg_ﬁ

5. 946,27 = <20,10%

21, yAY

v:¢2,3) Vs
ws <HLANT

Vew =<2-4, 307 < b Y

e Bt 2
P Pl N

N =2242,37- <, 17
NP ERC N
=<0,%)

U1 wal vettor €y wheve v=<3,4)

Kt __\[_ . <347

W s
V1= J@yveaae!
M=y

IV\ i m
l\” -Sun'd,\i

- sV 's'j.

l U\m’\ NeCHor € makw\s 0- o wl X0y

‘\\’ \ (.CQSeJL + 5\“6;)
=111 (eos () R« s };{.

8 .
4 !
¢ opy B~
Y
A .




2.2 - % 11,13,19 25, 27,31,49,5)

L R=(1,4.3) 21 0= N4 v=<b,-2,8Y
w:PR=€3,-2,37 WV G D LD
" P = Koo, gy, 30-2,Y MW e kgt 92
R RRLTR RN, ) F {5 o pare el
V= Xp =3 =y xo:-) 2 'f

21 UNi veryor w e opp AT e Ction

o y=<-4Y,4,27
o0 dire trion

H- p- "2 9 Y=
3_2\7 :3 “72?:0

P=(-2.6,0)

X - k' - < L{,'L‘llf’z'ﬁ. ‘
B,y o
V= <4,8,12) fvy :W*S"'*IZ‘ '=\\22L{' unts Je cro .
A B Up. Y -2e  H4T-fU-fe
et 1 = vecxory sre pacallel’ z 30
TRUB (4% (\D el

PhORLLEL N

UM ye edovs =— 3(0 T- 3(, } \C

4q. ¢+ (9:5,2)
V: 40,-2,\7

taiametrizatign= (5,5.2) +t <0,72, by
F(5:92)+ <0, -2t , ¢ Y

b)<1-2,37 = (DY) . C2Y8) + ((3) e
F—F’IH ”\[‘—"\-\ 56

)Ty S Ly

LR (1) () -39

1\ - o« e - L
} ANT-PRRALLEL 224 % [Tae 3% E (B 54 2+
)< g {t\‘r = L)W (000 + D) g3, oy 10,0+ 14-3.1,07
~ | \IZ?J-\ X J-33'2 2121 S ) _'{0'\'\‘{ *-t{Z'O, \\[
9. 7 L QAT 22T BT RLe)=41,0,0743-3%, 1, 0F
ﬂ 8 (I-3,5,07
SO g 42,0
25, 0=<U,2,-67 v=42,1,3Y 240,117+ $20.0,47
U\\/ (12) + 2D L) 12 = {240 v Y

| mm o s SRR T ARV,
\
| \aamﬂ\ot parael ™ H(\’ 1=

S=U -3




